EIEEERR D T=8 D=

$HEEEEE EBEHEEE
3. 1IRTEMYIYHLEE

Y e A AT



IRTTEMUYHLEREOZEIE

> IRFTTE#MYIIY H LERE 1dim. cutting stock problem |
> RESTODEMD mEAHS <EMEEG = {1,... .m]
> BEMOOREINELGLIBEBODBZZTUIVHLEL < @EE 1= {1,...n]

> RYBDDEDRHBLENRICEMZAVET D, BELGEMELLON?

> BERADREELT, YIWHETmORSFEMIYEN, £95
> IDDEMMLIDDmZYIYHET DA BEHE (MWELGTEMB=mE

> IRTEMYYHLEBEDET LS (ex])  xEXBENYHIRI,
> TIHTR, Bsmx E&S0m OBREBELTVD  (aomrriiazy
> IBSmM CREINELSHEIXN(TR)ZFIT1-
R&m) 3 4 5 6 7 1215 &t (n=39)
@B% 5 7 6 2 5 9 5 39 (m=n)
> RUDNTGEERHIGEWKIIZEHBRZDVRNT D, DHE (/D) BKIRBE RO K
> EXRDEE1={1,...0}={1,2,3,4,5,6,7,...,12,13,..., 18, 19, ..., 39}
> HIROES J={1,...m} ESnORGE E&MnRE7E) E&Sn&GHE) -
> EXRI DRSE s, ETBH(s = (5,053 =(3,3,3,3,3,4,4,4444455,..,15,15))




> E b A D E L (RHELE - R KREL)

1RITEHMYYELEEDREIL ﬁﬁ//j

1 .. mIiZEM/DHYLT S T—
0 .. fGhiZEM/hohykLiL

y

> 0-1Z 8 x.. ={

1 . EBMjEED

> O-l%’é?ﬂyﬁ{ . A !
0 ... BEMjZEHLEL .
J & ,\,\éﬁu

> mE&I=1{1,...n
> BMES J={1,....m} Xm = n A2 [ B A L

> %Fﬁ:ll wﬁéé Si &-d_%) (S — (Slﬂ "'9Sn))
> (IDD)EMDESZTET D Xforalli s,=T or max{s}=T

HFmi DRSS s, [FEMETLUT
(T EPYHEERL)



1R IC

min. y,ty,+...+ty,
S. t.x,tx, 4, =1

X, tx, . tx, =1
=Ty,

S;X TS X o e T8, X,

10,15
=10,15

X1 X125
yb y29 .

°9 nm

s Vm

Slx]m+s2x2m+' . '+Snxnm é Tym B

EMYIYH LB O REL
BLRIDE R b (SR RBOTRER) :

<«

min.}. 7., y;
S. t.
j= mix;;=10€l)
n
Zsixij <Ty;(e]))
i=1

x;; €{0,1} (i €L,j €])
Yj S {011}(] E])

E /w2 T RIED
EF{bEETRLU




1RITTEM YUY H LG REZ CPLEXTHES

> BEIOozorERK
vV EVnNyF U BERICERL-FTa (5 [BinPacking]) ZBA<

> (BZhR)EOAABBERDT—3771ILE/ERK
v JRP x4 [BinPacking] ETEIIYY — [FRRER]—[T—2]1%ER
v D744 [csexl.dat] ELT [T RE2V DY
vV T—R774)L [csexl.dat] DR EEERHLIRTE

T —3774)[csex].dat] BEm) 3 4 5 6 7 12 15 &t
i_max = 39;// EXE n=39 .
Jmax - 10:// BIRH n-10 @B#% 5 76 2 5 9 5 39

binB = 50; // K& 50m

c=[33333444444455555566777771212 12 12 12 12 12 12 12 15 15 15 15 15];

Evnyx  JRIBEDERILEETRILED T,
ETILI7AILIE [bp.mod] ZiRFAL,
T—3I7A4)L [csex].dat] DAHEVERKLT S

> <
v RAITHERK [configl] [Z[bp.mod] & [csex1.dat] ZFEXTE L THES



1RTEHM YUY H LR REZ CPLEX THZEL

> HER(fE]157)

%E@ﬁﬁﬁ@a

// MILP
// MILP
// MILP
// MILP
// MILP
// MILP
//

y = [1

x = [

k1 (§148m)

3m X 5=15m
dm X 7=28m
5m X 1=b5m

objective
solution norm |x| (Total, Max)
solution error (Ax=b) (Total, Max)
X bound error (Total, Max)
X integrality error (Total, Max)
slack bound error (Total, Max)

BER

// solution (optimal) with objective 7 €—
// Quality Incumbent solution:

.

HES_UE1IE=7J

111111868 e];:}"3§k1ﬁi1"'7{§3f5

$54R2 (3139m) = [,

5m X 4=20m
6m X 2=12m
7mX1=7/m

AV

7 .0000000000e+00

4.60000e+01
0.00000e+00
0.00000e+00
0.00000e+00
0.00000e+00

1.00000e+00
0.00000e+00
0.00000e+00
0.00000e+00
0.00000e+00

ZTHynE 1111 11110[0]0 [chk
FR|B0m | 12|34 671819 |10|3
—3m X 5 3m| 5 5
| . Am| 7 7
[100 000000 0] ¥ |3 | 5m]| 1] 5 6
[100000000 0] = 3t 6m 9 5
[L00OOO OO0 0] 2| <
[1eeoo00O0O] AgMXT x| 0 /M 1| 4 5
[1000000O0O0 0] A 12m 1| 4 3 12
[100 000000 0] 15m 5 5
o o60000007 =t m | 4844 40[ 48[ 48[ 36/ 30] 0] 0] 039
10000000 0] &Y m| 2| 610 2 14| 20| 50| 50f 50
[0100000080 0]
[0100000000] [PMX6
[0100000080 0]
"] 10000000 0]|




1RITTEMUIY H LEREZgurobi THELS (1)

> cplex® [ETILIT7AIL(*mod) | & T—RT7A)L (*.dat) | &
FEoT MpT7AIL(*1p) 1 ZERT S
> i) EFILITFAIL [bp.mod], T—RT7AIL [csex].dat]
— TS IpT7AIL [csex].lp]
» [Win]+[R] ¥— T [T7MIILEZEELTHEIT] d-boxZEENIT S
> AT cmd [Enter]
> aAYR702 7k command prompt D4R (BULVE@E) AEET S

> LIB&, A< R0 7 NATAT R (GRS X)) T > CERGSEEITT S
(D) BETIVIFAIWNET—R377AIDNHLEITAILFIZEEHNT S
cd [77r)|/5z /\0)/ vy

oplrun -e ¢csex1.lp bn.mod csex1.dat

> CDFER, ETILI7AIL [bp.mod] ET—FTF7AIL [csex].dat] ERILTAIL
BRI, IpFZ7AIL [csex].lp] BNHEFED (XHERTHILE)



1RTTEM YUY HLRIEZgurobi THE< (1)

> gurobi %&j

> aA<IUR

CE L CRIEZHEE, BT HES
JAVTJRT, LTS XEIToT gurobi ZFEEIT 5

gurobi

> 2BIL 7= gurobi AT, IER, LTDARHXET>CRI-BEAELTLK
(1) EREZECIRL TdH S IpT7 7 AL (csexl.lp) Z &+ IAH, model ~Nvb

model = read("csex1.1p")

2) B (BEILETEZRIRT &) XFACKBLTWWDETT—EED

model.optimize()
Q) RBEBZERTI D  XmBEBNRFOTWVEWNGZE XTI —EGD
model.printAttr(‘X’)

(4) EE(BRERMIE)ZRTI S XFEL

model.ObjVal
5) BEEZITAIL(*soD)ITHNT S X T7AILAIEIFEIC

model.write(“csex1.sol")




1RTTEM YUY HLRIEZgurobi THE< (1)

> gurobi DZ D, M- THLEFEFIGEa R X
> WLVI $ gurobi ZHE2EIL T, gurobiR TERITT S
(A NILTERRT D

(b) ETHDEEAE (ENODER) ERTT S

for v in model.getVar() :

print( v.VarName, ":", v.X)

> EfEERTT S50 S X NS, | [+, EN0ELLMRIEFTRRLAL
> 29TB D print XI&, T FFIF (AT LTELIE (PythonD 3GE)

> FTRIFIX[Tab]F—ZFHERBWLCKEFITRITNIE, FAAR—XATHA])
> model.getVar() TET ILMSZE M Var(variable D EE3XF) & get 9 HanH

> get LIEREHEATYIRA v ELT, for X TRRYIRT QITEZ®RYIERT)
> v.VarName |, T YRLE=BEBDI B IZEKRT 5T 155

> vX &, TS ZEHOMEIZERT 5 FHIE

> UELY, FEHZEIDI D& EIOR TEEIZRT (print) T4



1XRTTEM YUY HLRIEZgurobi THEL (2)

# i TF VAL #HsHH

> F988 (ex1) % python & defcsliento) @

# coding: Shift_JIS @
from gurobipy import *

# it BIREER TE HHHHHH
def make_data_ex1():
lenT = 50
c=(3,3,3,3,3,4,4,4,4,4,4,4,5,5,5,5,5,5,
6,6,7,7,7,7,7,12,12,12,12,12,12,12,12,12,1
5,15,15,15,15]
return lenT,c

12D T7A ) es.pyllZ

DD IEIZEEH L TR

# HHtHiHHH SEAT #iHHH

if _name_ ==" main__": @
lenT,c = make_data_ex1() #T—
mod = cs(lenT,c) # T
mod.write(“csex1.1p") #lp1
mod.optimize() # Bx 1

print("¥n optimal value =", mod.ObjVa
mod.printAttr('X') 1
mod.write(“csex1.sol")

=

# BEx
# BEx

mod = Model(“1 dimensional cutting stock problem")

# REEXTE
x,y = {}L{}
for jin range(len(c)):
y[j] = mod.addVar(vtype="B", name="y(%s)" % j)
foriin range(len(c)):
xX[i,j] = mod.addVar(vtype="B", name="x(%s,%s)" % (i,j))
mod.update()

# HRIKHDETE
foriin range(len(c)):

mod.addConstr(quicksum(x][i,j] for j in range(len(c))) == 1)
for jin range(len(c)):

mod.addConstr(quicksum(c[i]*x[i,j] for i in range(len(c))) <= lenT*y([j])
for jin range(len(c)):

foriin range(len(c)):

mod.addConstr(x[i,j] <= y[j])

forjin range(len(c)-1):

mod.addConstr(y[j] >= y[j+1])

# BRI DT

mod.setObjective(quicksum(y[j] for j in range(len(c))), GRB.MINIMIZE)
mod.update()

mod. data =x,y

return mod




1XRTTEM YUY HLRIEZgurobi THEL (2)

» PythonZ 7 JL (cs.py) Zrgurobi L TEITL, #E<
» [Win]+[R] F¥— T [Z7M /LB ZTEELTEIT] d-boxZHENT S
» AT cmd [Enter]
> aAYR702 7k command prompt D V4R (BULVNEE) AEET S
> AR TAVTMATITUR (@S X) E T >CTERGREETTH
() ETI7AIDH L7 IVFIZHEET S
cd [FAIFADINK]
2) L TR R X%E$T>T gurobi Z#2EIT S
> REENLT= gurobi AT, LT D H X T > THIEZ#EL
exec( open(“cs.py”).read() ) Xpython3 B DIEE

X python2 R DIZE DT XILLLT

execfile(“cs.py”)



optimal value = 7.0

1 RTTEM Y)Y H LB REZ gurobi T 7
ST

=urobi>| execlopen ce.py ). read())
raceback (most recemt call last):
File <stdind, line 1, in <module>
File <stringy , line 42, in <module>
File <string> line 24, in cs
vpeFrror: "list’ chiect cannot be interpreted as an integer
leurobi> exec(open( cs.pv” ). read())
Gurobi Oetimizer version 9.5.2 build v9.5.2rc0 (winBd)
hread count: 10 phvsical cores, 20 lozical processors, using up to 20 threads
Oot imize a model with 3119 rows, 1560 columns and 65479 norzeros
Mode | finzerprint: Ox1b11d6es
ariable twpes: 0 continuous, 1560 integer (1560 binary)
Coefticient statistics:
Matrix range [1e+00, 5e+(1]
Ohject ive range [1et00, 1e+00]
Bounds range [1e+00, Te+00]
RHS range [1e+00, Te+00]
resolve removed 1487 rows and 0 columns
Fresolve time: 0.03s
resolved: 1637 rows, 1560 columns, 6199 nonzeros

ariable types: 0 continuous, 1960 intezer (1960 binary)
ound heuristic solution: objective 36.0000000

oot relaxation: chjective B.0B0000e+00, 2581 iterations, 0.06 seconds (0.12 work units)

Modes Current MNode Object ive Bounds Warl
Expl Urexpl (Obj Depth IntInf | Incumbent BestBd Gap | [t/Mode Time

( (] ( F.0000000 700000 0,00 - s

Y
T e
W aepm a e

A
T e

Moo — L L e oD D —L —, SO — —t D D — — OO D — O — — —

e Qa0 T [ DO N T T LD O DO T GO D e Q0 T =Dl P TN D0 [T T N P DD e D — it ] L T e DT
@ @ @ @ @ @ O mm @™ @ @ @

S A A
P e e P e L
= w em m w m —ea m w w w w w —ew = = =
AT AT T T T T T T T o ] e e e e P DD DD e Dal DaS D D D o e e e e P — T T T T e e

- e a a

Faplored 1 nodes (5081 simplex iterations) in 0.13 seconds (0.24 work units)
hread count was 20 (of 20 available processzors)

Solut ion count 2: 7 36

R i T N

ot imal solution found (tolerance 1.00e-04)

Best objective 7.000000000000e+00, best bound 7.000000000000e+00, gap 0.0000%




EE ] IRITTEM YUY H LEEZE#ES

> IRFTTEMYIYHLEED&REL (ex2)
> ME5m X BRESOomD #FiRFHELTLNVS
> IBSMTREINELGDIXHR(TR) 2T, BkikzU>oTHET S
> RYUDNGEHIRCHBWNEDIZERIRZ DY RLE=0Y. ERIRIEWLOBEN ?
R&m) 3 4 6 & 10 12 15 &t
B&% 7 3 4 9 3 5 7 38




s s

SE

I\

5] 1Rt

EMYYH LR EZ#E<

:t 7 = . .
> "ﬁn%(cmeX[ﬁ*]'??) BB SRIRE(L7
( B
// solution (optimal) with objective 7 €— BEEJEﬂE = 7J
// Quality Incumbent solution: ~ AV
// MILP objective 7 .©0000000000e+00
// MILP solution norm |x| (Total, Max) 4.50000e+01 1.00000e+00
// MILP solution error (Ax=b) (Total, Max) 0.00000e+00 0.00000e+00
// MILP x bound error (Total, Max) 0.00000e+00 ©0.00000e+00
// MILP x integrality error (Total, Max) 0.00000e+00 ©0.00000e+00
// MILP slack bound error (Total, Max) 0.00000e+00 ©0.00000e+00
//
y=[1111111000]; « _FKR7DMHES
T zHyofE 1] 1]1]1]1]1]1]0]0]0 |«
x| 50m 213(4|5|6[718]9(10|F
s o 7 2 |
g m
¥ | | 6m]| 2 2 4
(100000000 0] o | X | 8m 1| 5 2| 1 9
[6000010000]4m £ [10m 1| 2 3
[0000O0010 00 9] =
[100OOO0O0O O 0] 12m 2 11 0
[6600010000] g 15m 3 1 1 2 7
%éggggggggg% £ m| 49| 45| 49| 43| 40| 48/ 50, 0] Of 0 38
AN
(000010666 0] R om bl 1] 7{10] 2 Of 50] 50f{ 50
[P 0000100 0] =
6eo00loooo] RSm) 3 4 6 8 10 12 15 &t
[0 0001000 0] e
6001000006 OM (EE3 7194 P] 2| Y 4 38|




